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logarithm. V , Vy-Daten uy=(A — 550) / 50
logV =(logMo+ logLo)/2 logM==0,35[u\—Us4q]?
logVo =logV + 0,02 logL o=—0,35[uy~Us7?
log [Vo, V , Mg, Lo] Adaptation: A\ =557

545997570
maximum
Lo log(Vm)=-0,02
Vmi=0,95
Schwelle
t:=0,00
1=0,0000

(2 Viv — R
400 500 550 600 700 A/nm
DGAB80-1A 545,557,570

logarithm. V , Vy-Daten uy=(A — 550) / 50
logV =(logGy+log )/2 logG,==0,35uj—Us]?
logVo=logV +0,19 log =-0,35luy-u J?
log [Vo, V, Go, Adaptation: Ac =557

maximum

log(Vm)=-0,19
Vm=0,63
Schwelle
t=0,00
t=0,0000

-3 vy -1 0 C 3

400 500 550 600 700 A/nm

DGAB80-3A 520,557,595

logarithm. -Daten uy=(A — 550) / 50

=(log +logMg)/2 log =-0,35u)-u J?

=logG + 0,08 logVo=—0,35\~Us45?
,Mo1 Adaptation: A =520

545

—

maximum
Mo 109(Cm)=-0,08
m=0,81
Schwelle
t5=0,00
t=0,0000

-1 0 1 3

400 500 550 600 700 A/nm
DGAB0-5A 495,520,545

logarithm. L , L,-Daten uy=(A — 550) / 50
logL =(logMy+log )/2 logMy=—0,35u)-u ]
logLo=logL + 0,08 log  =-0,35u\-u:]?
log [Lo, L, Mo, Adaptation: Ay =570
545570

maximum

log(Lm)=-0,08
Lm=0,81
Schwelle
t=0,00
t=0,0000

0 1
500 550 600

DGABO-7A 545,570,595

logarithm. V , Vy-Daten
logV =(logM+ logLe)/2
logVo =logV + 0,02
log[Mo/V ,Lo/V ]

uy=(A - 550) / 50
|OgMo=—0,35[U)\—U5_15 2
logL o=—0,35[uy~Us7?
Adaptation: Ay =557

545957570

MoV

-1 0

maximum

t=0,0000

1 3

DGA80-2A 545,557,570
logarithm. V , Vo-Daten
logV =(logGy+log )/2
logVp=logV +0,19
log[Go/V, [V ]

500 550 600

700 A/nm

uy=(A - 550) / 50
log G,==0,35[uy~us-]?
log =-0,35luy-u ]2
Adaptation: A =557

0

maximum

log(Vm)=-0,19
Vm=0,63
Schwelle

1=0,0000

1 3 uy

DGAB0-4A 520,557,595

logarithm. -Daten

=logG +0,08
/G, Mo/G ]

500 550 600

700 A/nm
uy=(A - 550) / 50

=(log  +logMo)/2 log =-0,35U,-u ]2

log M o=-0,35)~Us5)?
Adaptation: A =520

maximum
log(Gm)=-0,08
m=0,81
Schwelle

DGAB0-6A 495,520,545

logarithm. L , Lo-Daten

500 550 600

700 A/nm
uy=(A - 550) / 50

logL =(logMqo+ log )/2 logM;==0,35[u)~Uss?

logLo=logL + 0,08
log[Mo/L, /L]

545570

log =-0,35[u\-u 12
Adaptation: Ay =470

maximum

log(Lm)=-0,08
Lm=0,81
Schwelle

DGAB0-8A 545,570,595

500 550 600

700nm

Moi=Mottj, Loi=Lot;
Vai=(Moj+ Loi)/2
Voi=Vai/ 0,95

Voi, Vai, Mo, Loi

uy=(A - 550) / 50
|OgMO:—O,35p)\—U545]2
logL o=—0,35u\~Us7?
Adaptation: Ay =557

545957570

maximum

log(Vm)=-0,02
Vm=0,95
Schwelle
t=0,00
j=0,01

Moi Loi

3 VoVairt O 1 3
400 500 550 600 700 A/nm
DGA81-1A 545,557,570

=Gottj, =+ u,=(A — 550) / 50
Vaim(Goi+ )2 log G,=-0,35uy—u
Voi=Vai/ 0,63 log =-0,35u)—u
Voi, Vai, Goi, Adaptation: A =557

maximum

log(Vm)=-0,19
Vm=0,63
Schwelle
t=0,00
t=0,01

». -~
3 VoV t 9 1 3
400 500 550 600 700 A/nm
DGA81-3A 520,557,595
=+, Moi=MgH; u,=(A — 550) / 50
=( +Mgj)2 log =-0,35u)-u J?
=G,i/ 0,81 logVo=—0,35j~Us45?
,Gai,  » Moi Adaptation: A =520

545

/ maximum
Moi 109(Cm)=-0,08
m=0,81
Schwelle
ta=0,00
t=0,01

-1 0 1 3 Uy
500 550 600 700 A/nm
DGA81-5A 495,520,545
Moi=Mott;, = Hj
Laim(Moi+  )/2
Loi=Lai/ 0,81

Loi, Lai Mo,

uy=(A - 550) / 50
logVo=—0,35uj~Us7]?
log =-0,35lu\-u ]?
Adaptation: Ay =570

545570

maximum

log(Lm)=-0,08
Lm=0,81
Schwelle
t=0,00
t=0,01

N I R 3
400 510 550 600 700 A/nm

DGABL-7A 545,570,595
DGAB1-7N

Moi=MgHti, Loi=LoH; uy=(A - 550) / 50
Vai=(Moi+ Loi)/2 log M ==0,35[u)~Us.5)?
Voi=Vai/ 0,95 logL o=—0,35[uy~Us7q?
Moi / Vai, Loi / Vai Adaptation: A\ =557

545957570

2 :

maximum

10g(Vim)=-0,02
V=0,95

-1 0 1
500 550 600
570

700 A/nm

Uy=(A - 550) / 50

log G,=-0,35up-us2]?

Voi=Vai/ 0,63 log =-0,35Uy-u ]2
IVai,  IVa Adaptation: Ac =557

maximum

log(Vm)=-0,19
Vm=0,63
Schwelle

20 2
500 550 600
DGA81-4A 520,557,595
+i, Moi=MoHt; uy=(A — 550) / 50
+ Moj)/2 log =-0,35u),-u ]2
/0,81 logVo=-0,35[U)~Us.5)?
Adaptation: A ,=520

700 A/nm

maximum
log(Gm)=-0,08
m=0,81
Schwelle

-1 0 1

500 550 600
DGAB81-6A 495,520,545

Moi=Mottj, = uy=(A — 550) / 50
La=(Moi+ )12

Loi=Lai/ 0,81

Moi / Lai, /Lai Adaptation: Ay =570
545570

-1 0 1 3 U
510 550 600 700 A/nm

DGABL-8A 545,570,595

700 A/nm

2

maximum

leg(Lm)=-0,08
Lm=0,81
Schwelle

_:ITUB-Prvaorlage DGAB8; Relatives Farbensehen: 495(C), 520(G), 545-557-570(MVL), 595(
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